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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-VI » EXAMINATION — WINTER - 2016

Subject Code: 3361306 Date: 26-10-2016
Subject Name: Environmental Impact Assessment

Time: 10:30 am - 01:00 pm Total Marks: 70
Instructions:

1.  Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €MLY SIBURL Alcloll Lol L, 14
Define term ‘Environment’.

clluALRL 821 “ualerel .

Define term ‘Environmental effect’.

clluAlRld 82 “walcella AUuR.

Define term ‘Environmental quality’.

clluALRld 821 “walcrela slclél.

Define term ‘Environmental attributes’.

caullflet 5 “walarella ARoye .

Enlist the method to achieve “Sustainable Development’.
2516 (Astr el uerfQule(l gl wstial.
Enlist classification of ‘Environmental Impacts’.
“yallerzelal 3D ol aolls2etell el wetal.
Define term ‘Desirable Impacts’.

cuAlRBld 531 ol AU,

Define term ‘Environmental change’.

cluALRl 821 “ualaella Weete.

Define term ‘Environmental degradation’.
clluALRld 821 “ualaela ueLsl.

Define term ‘Environmental impact analysis’.
cauallld 52 ‘ualeRela e Yyeuswy.
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Q.2 Enlist requirement of good E.LA. 03
Y2 (L) ARL S.aus.al Hzell wzRatdel(l augl weual. 03

OR
(a)  Draw neat sketch of ‘Regional carrying capacity of sustainable development’. 03

@) <eslB [@Asi w2 ey alad 3300 3UAED ol 22 2us(d €l 03
{b)  Write objectives of ‘Public Participation’. 03
o) 32 llewdl olt gl cull. 03
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OR
Write advantages of ‘Public Participation’.

‘o182 AO(LELZ oll slaedl cul.

Differentiate between ‘Quantifiable Impacts and Non-Quantifiable Impacts ’.

dsteld eul: “URHRlal AR wel wuRHwla A1u?.
OR
Differentiate between Long term impact and short term impact’.

dsteld dul: ‘@ioll suais(l R Ua gst awoue(l wuz’.
Explain about ‘Proponent” player of E.L A.
8.28. . oll “yulele’ wdaR [ cull.

OR
Explain about ‘Decision maker’ player of E.L A.

8. 3U8.A. ol Byt A5 WaR QA dull.

Draw value function graphs for ‘pH'.
‘pH' oll AR} §5ol oll 2wy s ELRL.

OR
Draw value function graphs for “SPM'.

‘SPM' oil AcR] 550t oll 29 2Us €13,

Explain in brief about °Activity that affect attributes’

ER(lE] @ Adloged o UUT 53 © Aol (AN g5HL cvll.
OR

Explain in brief about ‘Variable to be measured in attributes’
‘A glogeuul AlAoe of wuel> QA gsui cul.
Explain in brief the importance of describing ‘land use” in EIA.

8.208.2. 1l ol oll duAWe] Mol [AA g5 HL AUl

OR
Differentiate between ‘Rapid EIA and Comprehensive EIA’.
dsteld cull: ‘sl 6. 418 .3, el cALUS §.2418.2".
Identify ‘Primary Impacts’ for construction of new township.
olcll 218l ol olittsiH €12liet Bedtacl “Ualls U3 cull.

OR
Identify ‘Secondary Impacts’ for construction of new township.

olc(l 21Ga(lu olt olitusiH g12llel Geetaldl Otlel U3 cull.

‘EIA is a paper tiger’. Give your comments.
6.8, 519101 URell cllel & [Allot UR g Heleal cull.
OR

Explain in brief the ‘Evaluation’ step of EIA and highlight its importance.

8.8, of ‘BAcB AR U dofl WolRldl WA Z5HL AUl
Explain Purpose of Environmental Impact Assessment (EIA).
walareell AR ol 2usRellell dqil eudl.

OR
Explain the method of environmental assessment.
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waleRele{l ARl ofl 2ustzelle(l weadlaal seucl.
What do you know about EIA report? Explain in detail.
wallaRetell 2Rl ol 2usRell ol wcuad Aed g2 [AotdalR

Axan ).

Who is involved in the prediction of impacts?

UURAo] ofHlet Ui Sloll AMAA sRAUML A B?

Why E.L.A. should be prepared by project proponent only?

Al Hi2 8.8 3l HIoL “Ulgse Yulele’ gll dal’k sl wd 82
Differentiate between ‘Acceptable and non acceptable impacts’.

dstadd dull: ‘WAsAULHA ol ollol- WSAUSLUA AU .

Identify ‘tertiary Impacts’ for construction of new township.

otcfl alBellu ol sliusid erallel Geatadl ‘glda WA cvll.
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